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4. Kajal and Mayank are good friends. They both study in class X. Due to the corona virus pandemic
the sc‘thools are closed. They both study online. One day while chatting, they discussed the following’
questions : :

(i) In a triangle, ABC, if AB? + AC? = BC?, then :°
(a) LA =90° (b) £B = 90° (c) £C =90° (d) none of these
(i) Tick the correct statement :
(a) All similar figures are congruent
(b) All congruent figures are similar |
(c) The criterion for similarity and congruency is same.
(d) Similar figures have same size and shape.
(i) If a line divides any two sides of the triangle in the same ratio, then the line is parallel to the

third side. The statement depicts which theorem?
(a) Pythagoras (b) Thales Theorem
(c) Coverse of Thales theorem (d) Converse of Pythagoras theorem

(iv) Using the concept of similarity, the height of the tree is : s

(a) 12 ft (b) 20 ft
(c) 30 ft (d) 40 ft

standing on the same

(V) The height of the tree,
gh and casts a shadow

straight line as the girl

42 m long, 1S :

(a) 6 m (b) 8 m

(c) 12 m (d) 16 m »2 m
l-—14 m—
- 42 m

1.

Scanned with CamScanner



x| Teko1d (MCBs—Taiamghd) TN
N - iy

| amscaaree T
Cooma(Aabe) - (ABNA 4 )
_auea(arer) \ PR L T

_h9@ OV T~
> Siwee DE || ¢, whimg Thales thoorom,
_ ADSAE B 1 .
S \PE EC 3 Ec T

. Ec=3 -3

)15 15 &

= 2om (d)
,w_é‘AD__E:v_Aae_c_CAA_st_v_vg_lmﬁa-

s . R L

R —— ,_,_‘_._-—-._G’ji:__‘}_‘

i

AR @“ et

I S —
QWAA(’)C omd. —
APQR ase wsoscales ko B

Ab - AC 0D _— O\M%)M,, |

P& - PR () —

—

&) -A-:b-. ""& ] — 1
(" & pR

Scanned with CamScanner



JWO SRR Dt A s i e
Aowe £ B = AQCWM%&W 9
e lbirihy)

/rm ) AABD ~v APBS (AA &

AP = AD
- PR . PS
s, daea (4480 = AB C 2 9
; WCAP&K) ¢
y o > AD 23 ()
D | pS ; 4 {
> BGom FEcmE sl
Swm DF“AE WA ABE WWMMM e i
i BD _BF =4 0y - ,

DA FE 5

%w%@mmMcfw i !1
2 a o) C2> LI S AL T . A
_ EC ~ EC L e

;F/wwr- &) MC??), b = 9

’Tm BDEF o 0“”%”"‘ wtkfm Fammoj;;_ :

waf

1%!Wu. M{:EDxba,
bk o 'W

’ﬂw , A ABC ~ ADEF CAA %vmi,__: )
M(ADE) ( ( _‘Lr = Z, Hla) |

1 Grun ( ABBL)

Scanned with CamScanner .



f '\ aua(An8) ) "?CD
i/ P TIVN CAcoo)

B e T
W(ACOD)« i HAL
_371;t = lom”

A > aua(a . 7
’:»¢urA8 BL-AC-A
 Thm, AE = sz““fj*“““““\\\

,/

ABBC L e i fde o
et e 18 . g8:-3K +<\ 8(- IB)\

T T )
o

216
oo = 13RI D
7 '.':"'9 < )6

. idaspe (O

@C QR0 = 60wv * ,_ﬁﬁ_

"W) -AM M AAC& A’&m Ac- -+ 662- : P WAL
e o2k 't'é = ;[G-{—Sé __-ﬂ =

LTINS RS R

Scanned with CamScanner



A

}—

o), 25—y Theosom. i k. AsC,
;”5) ’ ACL 6& + BC* A g
(0% &5_ x+g)+x
! X O
b c 65 < % 1024 A5 422

37& +\0x — 600 =0

A% 5x -300 =0 S P
(2t - \5)a+zo) 0 siny) « 41 B-S00
= '5 ~20 -15,20

,%MA‘Z—W/ : W\MJML
. %om )(wo/snm e, ij)QO.W(b)

_ Simee dia \gowals &M\«b hoseck
D each ot al‘q;e;gm,o.k AA06 A
 AB*- oA 0B 9___5+18 R

2 20541296 -152)
[ 4 4 o
N A&_: 3_j (V%%
2.

= AR*—0A*
= 00~ 3¢ = 64
OB = 80w

_“ _Aic L.t bﬂ\a)ﬂ\- % getovd &a(,gcwxl = QOB = [6

(b
\3) \pdrr N2, i ﬁmﬁk AADB AD = AR AD> |

3/\(‘, k. AAD@,/ op*

R = 164-25"= lhh
5 D < ' BD '2‘”2__, IR
. BC ;zBD a?AcvaCD I
“D a3 () U — ‘
2.

I5) : iwﬁ,t AA.%, AB . AD} BD™> AB. AD(_L BC)

2. AD’ +_,5 = L AB™= L ADY AB™
b D C ;>A6 =5 3A62_.Z|AD"C19)

Scanned with CamScanner



Scanned with CamScanner



